
Ils savent même pas calculer
les pertes de charges
dans un tuyau !
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Estimer
le problème !

nu         =  1.50e-05 [m2/s]
rho        =  1.21e+00 [kg/m3]
Re =  1.67e+05
Pr         =  7.04e-01
Ec =  2.50e-01
Ec Pr      =  1.76e-01
Ma         =  1.46e-01
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Nusselt

Stanton
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Faire avancer un fluide
dans un tuyau !
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Tuyau
lisse

===== Smooth pipe ==================================
Lambda              =  1.621e-02 
St                  =  2.308e-03 
Nu                  =  2.708e+02 
Pressure difference =  4.889e-01 [bar]
Pressure gradient   =  4.889e-03 [bar/m]
Heat flux density =  1.392e+03 [Watt/m2]
Heat transfer coeff =  1.392e+02 [Watt/m2K]
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Tuyau
rugueux

===== Rough pipe === epsilon =  5.00e-04 ===========
Epsilon_+           =  1.152e+02 
Lambda              =  3.823e-02 
St                  =  4.779e-03 
Nu                  =  5.608e+02 
Pressure difference =  1.153e+00 [bar]
Pressure gradient   =  1.153e-02 [bar/m]
Heat flux density =  2.882e+03 [Watt/m2]
Heat transfer coeff =  2.882e+02 [Watt/m2K]
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Laminaire
virtuel

===== Virtual laminar pipe =========================
Epsilon_+           =  1.152e+02 
Lambda              =  3.841e-04 
St                  =  6.066e-05 
Nu                  =  7.118e+00 
Pressure difference =  1.158e-02 [bar]
Pressure gradient   =  1.158e-04 [bar/m]
Heat flux density =  3.658e+01 [Watt/m2]
Heat transfer coeff =  3.658e+00 [Watt/m2K]
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Dessiner
le problème

===== Profil logarithmique ========= kappa =  0.4000 et C =  5.5000
===== Correction de Coles ========== alpha =  1.3500 et D =  1.0000
==== Approximated mean velocity (smooth) :  54.3 [m/s] 
==== Approximated mean velocity (rough)  :  56.4 [m/s] 



Près de
la paroi…
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Prturb = 1
0 = ¥(g-+ g-t )
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Est-ce 
un modèle
réaliste ?


